:2 0'02 7 10 0'02an D"1D0N NINNT7 NIPTN

wonY1 077N 1w A9onn Nk Ton7 vt X =(d,d, ;..dp.d_d,..d_ ) 7900 mna

:NIY DNMIATX DN'Y7Y

70N Yy WTNY w2 (7m0 Y9onn IR 7n v - (d d, ..dy ), 07wn ponn a1

' ,2 0'011 190NN 7w NNYOoN [N NRI7N2 NIMRWN .0 X' npInn NN WK TY
MINnwh
AT

(35);0=(?), 352=071)

/ 17/2 = (8.,1)
L= » al
8/2 = (4,0)

I—»az
42 = (2.0)

(B —
2/2 = (1.,0)

L » dy
1/2 = (0.1)
lnto s

(100011),

252423222120 ds

IX DAY D7 7707 1719071 22 19010 DX 71907 Wt (O.dfldfz...dfm )10 navn Y 2

DN D'N7WUN D'P7NN AW K77 D7W 190N 72pNn YUK TV 22 71907 1'wnin? i 1awn
' 7xnwn ,2 0'011 190NN 7w NNLSon
narT

(0.1875),;,=(?), 0.1875%2 = (0,0.375)

/ 0.375%2 = (0,0.75)
0.75%2=> (1,0.5)
(0.0011), 0.5¥2= (1,0)

(0.0011), =1+1 =(0.1875),,

1
8 ' 16



